4.4 Homework

where cos x = 1, iLe., x = 2Znw, n an integer.
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MNa=4dandb = —=—.
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73. The height of the rider is modeled by

2
h = 30 = 25 cos (ﬁr),wherﬂ i = U corresponds
to the time when the rider is at the low point. i = 50

=i 2 2
when T = o8 (F) Then F = 24098 501

= 15.90 sec.

74. The length I. must be the distance traveled in 30 min by
an object traveling at 540 ft fsec:

L = 1800 sec - 540 % = 972,000 ft. or about 184 mi

75. (a) A model of the depth of the tide is

d =2 ms[%{r - ?.2}] + 9 where ¢ is hours since

midnight. The first low tide is at 1:00 A (¢ = 1).

(b) At 4:00 s (¢ = 4): about 890 ft. At 9:00 pm.
(t = 21): about 10.52 fi.

(c) 4:06 am. (1 = 4.1 — halfway between 1:00 a.m. and
T12 am.).



